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Interactive Question

You lift a 10 N physics book up in the air a distance of 1

meter at a constant velocity of 0.5 m/s. The work done by
gravity 1s

A) +101J
B)-101J
C)+51]
D)-5]
E) zero



Interactive Question

Consider the three different frictionless ramps shown
below. If you push an identical box up each ramp at

constant speed, rank the ramps in order from the one that
would take the least work to the one that would take the
most work.

A) L II, 11 B) IIL, I1, I
O) IL, 1, 1II D) I, 0L, 11
E) None of the above




Interactive Question

Suppose you wanted to ride your mountain bike up a
steep hill. Two paths lead from the base to the top, one
twice as long as the other. Compared to the average force
you would exert if you took the short path, the average
force you exert along the longer path is

A) four times as small.

B) three times as small.

C) half as small.

D) the same.

E) 1t depends on the time taken.



Interactive Question

Suppose you wanted to ride your mountain bike up a
steep hill. Two paths lead from the base to the top, one
twice as long as the other. Compared to the work you
would do 1f you took the short path, the work you do
along the longer path is |

“A) four times as small.
B) three times as small.
C) half as small.

D) the same.
E) 1t depends on the time taken.



